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IMPORTANT NOTES

(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
T GfeRT J U 61 B Ud SH% Joi 371UH. 3. T B 9ol YW F 9 A |

(B)  The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
w0 fafe=t gfre ud v F faafea & | v gie vd um § @ TR S arer weel s S #Y S 3 59
gie e W11 H 2ifhd g T E |

(C) Attempt answers either in Hindi or English. not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
I 3 A et W H | e v 7 S, S A TR | T v WAl & 3T Al gag v g fer 7 @
few =, e e fop v foeig & o aem | fé<t an oot § So7 39 & fow = forar mam &t |

(D)  The candidates should not write the answers beyond the rescnbed Ilm]t of words: tallmg this, marks will be deducted.
Tt 7 T SaY i wresl i G 9 e Tel e wiET | S Sooied i U 35 Hie AT |

(E)  Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.
fer it 91 <1 S AT ferepr  Freifes e 1 ford 1 e R Wsﬁr&%g‘aaﬁm%maﬁwaﬁ T T,
A FG TFAT 3 His TedH e T4 -- W H A, T, T TR, qqmal & T IFAET 2T HlE TR § ST
e, 99T T 3w e T fog | Um‘cmwamn‘gms'qs@md A A H%FIIIHTW&TH I SJTQIHTR' LECR i)
T IO ST T T AR 5 STF A H 9 5 S ST GFA & |

(F)  Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out S]dt., the border line will not be checked bv the Fvunmel

T ol FsTerT femar ST & T vAreR qfst | U U | 99T TS aTeY S | aTed Ve Tél o | |Te]

T % e i@ T S 1 G gRT S Tl SR |

(G) If'there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
g foredt wemr & Tt Wep 61 RIS HE0T 91 GeTeHS UK HI Fic & 6l UIT & (el qdr s TRl 5 § st
T A & |

(H)  The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return lt to the 11}\’1}:|l'1t01
mmww@wmqmwm{g | 3nzefT T o 3ifera 9 1 TgRT S190T O BT
T 3T I ISR B ST BT |

(I)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
3] YR QTR % FIE Hore 39 SILUH. AR, T W T it faaeer Hiet a0 § SEdEEs 9 | e
TE 5 g 31.U9.31X, U9 8] 9§ - ol 37aT T Wl WehT T e1feua 7= &7 |

(J)  This OMR Sheet consists of Two parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
TE MUH.AT, T &1 91 7 a1 &, 999 Fiaua u=md y=gied & | 99 i gfd el & &1 & |

(K)  If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
T TR Gl el | HEHel A1 ITfEd 7, df SIS & oI B o € 997 3§ 99edl of, 21 SEH S1ae
3T T F |

faviy Aie

s g AfE ST.UH. AR, T WO GO SR ST § a1 59 fRHT Jer S eAfd TEee S € e $9 W Rl W

TeaH fee Sifeha Tora ST &, A 2TEnT g7 W0t Wit B Snattar MR i ST Gl ST SHS foiy angell Sweemd! 2 |

Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification

is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.




4 A

SPACE FOR ROUGH WORK

|




Paper-II ] ”'

HIII

PAPER — 11 GENERAL STUDIES & GENERAL KNOWLEDGE
(Total 200 Marks)
(Total 43 Questions)

Unit—1 (65 Marks)
@fe-1) (65 i)
Part— A Marks : 20
HOT — 37 oqh ;20
Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.
e wHfl U & IS | T T 1 S 15-15 ISR B T | Ui W9 % 2 37 MEiRa @ |
1. Find the number of 5’s in the following number chain such that sum of two digits before

it is not greater than the sum of two digits that follows it.

24593587652150503503

et & 7T e oo # U fhae 5 € ek 3tk T8 el o &1 37hT BT AT SH Sk aTg % al S
&% I 3NTF € 2

24593587652150503503

2

A particle can complete a circular round in one minute, but it moves half round
clockwise and one-third round anticlockwise successively. Find the time in which the
particle will complete one round.

Ueh ST Ueh T =5k U 0 § TN ¢ Tehall & =] 9 ShHIER ST =056 8! &l 290 o 741 0%
forerg ok \rel ol famdial feon & =it & | 98 THA A Hitord ST a8 o7 Ueh U7 9056 T |
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3. Find the smallest integer greater than 1 which is simultaneously a square and a cube of
certain integers.
| | @ o DI W B YUTish I Hifed S Teh 14 fohel i qoTfshi ol & o = & |

4. Inaright angle triangle ABC. right angled at B, prove that
(AB)? + (BC)® < (AC)}
Ueh HHHIT BT ABC T %101 B 99eiv1 € | foeg it fol
(AB)? + (BC)® < (AC)?

3. What is the variance of first n natural numbers ?
TIH n UThd TS T TEH0T 41 € 2
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6. If A, B and C are three sets such that none is a subset of other. Use the Venn Diagram to

find (A-C)n (C-B)
afs A, Ba C T U8 T=a9 ¢ o 1% ff T ol SUGH=IT 6l & | 9 3G 1 ITANT Y
(A-C)N(C—B) 3 Hifvd |

% If “SHANTI” is coded as A981A4B09, “FORUM™ is coded as 6A5SA8B1A3 in a certain
code language, then how will “BUILD™ be coded in the same language ?
Ife ush Ffvad Fe g § “SHANTI? & A981A4B09 ferar s &, “FORUM™ &1
6A5A8BIA3 Tor@l ST € d SHT e 9T § “BUILD” i 5T foram S 2

8. Find the area of the shaded portion in the follomng figure.

ﬁﬁ?‘r&fﬂiﬂmﬁﬁﬂmwmmm ST i |
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In an examination it is required to get 36% of maximum marks to pass. A student got 94
marks and was declared fail by 14 marks. Calculate the maximum marks.

fopll Tie | 30T B % oI STfehay 3% T 36% I ORISR & | T (ol Sl 94

3 U B0 & AT 3Y 14 ekl W IO SO Y ST ST € | SEwan 3l Bl TUET
Hito |

10.

An electronic device makes a beep after every 60 seconds. Another device makes a beep
after every 62 seconds. They beep together at 10 a.m. for the first time, then find the time
when they beep together at the earliest.

U AR TR U 60 ThUs TIHTd Uh Hi2l STl & | T STl Udd 62
Wehug qveld diel aeIdl & | Ut S o ST Ul 10 a.m. W A § Wil o9 €, df 9

meﬁfwgmawmww |
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Part—-B Marks : 25
W - 3w : 25
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks. _ :
qT: W U 6 SR | I AT B ST 50-50 IS W E | Uedeh UvA % 5 iep (i § |
11. J. K, L, M. N and O are the members of a family. Professions of all members are

different. If
(1) Family has two married couples.
(i) "M’ is a doctor and his wife is an engineer
(iii) *J" is grand daughter of *O” and sister of ‘L.
(iv) ‘K’ is grand father of *L.” and is married to a teacher.
(v) ‘L’ is aclerk and his mother is *N’.
Then. who is the wife of *“M" ?
J.K, L, M, N 23X O U% URaR & T £ | 94 9e=i & =qa9 =1 & | afe
(i) 9REwR = 3 foented e € |
(i) ‘M’ U Tafehcdes & 31X SHH! Uil U ToliaT & |
(iii) 7, OB AN ET ‘LB a7 & |
(iv) *K’, ‘L’ % ST&T & 9 3! VN1 Uk TeAfent ¥ g5 ¢ |
(v) ‘L’ U FeTeh & o ST 71l ‘N € |
e ‘M’ @l U BT § 2




Hll

1||4

Paper-1I 10 iif
X sin ¢ y sl sin  x
2 g ——
12. Iftan0= T sq) an ¢ = [—yco 9 then proxesmd) y
sin 6 s . sin@ x
ot gy B _\&@_ an § = _w_ P x
l-xc d) —ycos & sin ¢ y

13. N is a three digit number that is a multiple of 7, what is the probability that it will be a
multiple of 5 also ?

N T 37 1 7 3 T[UTST Bl SIS HEAT & Al S 5 o A TS & I T TG § 2
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4. What is the largest integer not exceeding 1000 which leave remainder 3 when divided by
5, remainder 5 when divided by 7, and remainder 7 when divided by 9 ?
1000 § &1feh 7 &1, aF Fa a2t qoiieh WA 2l o 5 | fanfsig et o vvwer 3, 7 %
ferdTioTel e o PTwheT 5 T 9 | faife e W e 7 et £ 9

I5. Mr. X invested money in two schemes A and B offering compound interest 5% and 10%

per annum respectively. If the total amount of interest accrued through both schemes
together in two years was ¥ 2075 and the total amount invested was ¥ 15,000. Find the
amount invested in scheme A.

A X 7 =7 AeT A #R B # U et e S sEe: 5% 3 10% PINCLRCE T -l |
TR Yl 2T | A1 2 A o a1 Z A gRT et ST st B i 3 2075 off 74 et
FereT febar T &7 % 15,000 o | FismT A F Fraer 1w e e R |
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Part - C Marks : 20
T -—H 3® : 20
Attempt all questions. Answer the following questions in 100 words each. Each question

carries 1_0 marks._ _ o _
T Tve % 3 | e UeE @ 3T 100-100 YR § | Uedsh 09 6 10 37 T & |

16.

Two tapes A and B can fill a tank in 5 hrs and 20 hrs respectively alone. If both taps are
opened then it takes 30 minutes more to fill the tank completely due to a hole in the tank.

If tank is completely filled then how much time (in hrs) will it take to get tank empty due
to drain water from hole ?

2T A T B TH SH FHE: 5 6L T 20 HE F Shed W Wahel & | A< A1 Aol @i fed
ST o S T U 9% % FRT T T 9 H 30 A S A o F

afr 25 TR @ gS A o 39 9% § | AR UE o e W ! 1 @ g A fpa ae
(52T ) T 2
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I7. In an election 10% of the voters on the voter's list did not cast their votes and 60 voters
cast their ballot papers blank. There were only two candidates. The winner was supported
by 47% of all voters in the list and got 308 votes more than his rival. Find the number of
voters on the voter list.

U A § WA FAT H F 10% s F S T @ R 99 60 " 5 o w e
et | SR O e & SEHRAR & | forote st Heer g § 9 47% waere o ane e qor
SH 70 WidEET § 308 T S U U | WA Yo HeRrarai # S s S |
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(Unit-1I) (70 Marks)
@re-11) (70 37F)
Part— A Marks : 10
0T — 37 & 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.
Tz WA UwE H IR | ot o1 ST 15-15 WIS § ¥ | s uee o 2 37 HiiE € |

. A light and a heavy body have same momentum. Which one will have greater kinetic
energy ?

T BT U TR a%] Wl T TAA & | =7 O Tepept TITasT St 2Atuss = 2

S8

How does the density of nuclear matter depends on size of nucleus ? Does the density of
atom also follows the same rule ?
aﬁﬁmqﬂmmmﬁm%wwﬁmwﬁﬁ?m%?wmwmﬁsﬁ
e &1 e Y & 7
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3. What do you understand by “Joule-Thomson effect” 7

STA-ATHET TE T 311 o7 e & 9

4. Write the name of causal organism and vector of ‘Dengue fever’.

ST JER % HNH S 741 b g HT A1 fA@w |

5. What are umbrella species ? Give an example of umbrella species.

A ISl 91 § 2 D USTI 6l Ueh 3207 ST |
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Part—B Marks :
W - 3w : 20
Note: Attempt all questions. Answer the following questions in 50 words each. Each question
carries 3 marks. _ - . ‘ _
Sz, wef U % I Y | T el W ST 50-50 TR H T | WeH WA H S 3 i & |
6.  Write Kepler’s law of planetary motion.
e T % R o e @ A |
7 The concentration of Hydrogen ion in a sample of soft drink is 4.0 x 1073 M. What is its
pH ? (log,,2 = 0.301)
o7 e 3 T ETEEe e A 4.0 x 100 M E | ZHeRT pH &1 &1 2
(log,,2 = 0.301)
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8. Write a note on genetically engineered insulin.

STETeRd: AT Tqfe ) feoqol fafay |

9. Enlist various trophic levels in an ecosystem and give suitable example of each trophic
level.
+ o ~ > X R = ) ~ ~ n
T IR E(ceh o < fafye=T aidt SRl ol Jeiiag I a2 Uedeh Tt %ae & Sfad 30T JiT |
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Part—C Marks : 40
VAT - 3 : 40
Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks. _ o ‘
A |l U B3 Y | Ul 7 3T 100-100 I W | UhH U9 & 10 37 MG € |
10.  What do you understand with communication system ? Give block diagram of

communication system and e%p]am 1ts elements.
TR e | 31T SR WL ¢ 2 W (1T 1 seiieh o S gU 39 STedi ol THEsy |
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11. Distinguish between conductor, semi-conductor and insulator on the basis of band theory
of solid. _
2 & 53 ST & YR W =T, TS d HAed H 9S hietd |
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12.  What are chromosomal disorders in human beings ? Write causes and symptoms of any
two such disorders.

Al § U TR T B § 2 T UK % foheel &1 [ % HRUT 9 ST Ty |




g LT

13.  Discuss the Breed Improvement Programme undertaken by the Department of Animal
Husbandry., Government of Rajasthan.
TSI LI o TR (o1 §RT el T 18 7561 UK HIEsHH Sl oo ity |
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(Unit-11I) (65 Marks)
(@fe-111) (65 37)
Part— A Marks : 10
WFT — o7 3F: 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks. _ - _
e @it uve B I | e Uee b ST 15415 IR H § | 9ok U % 2 37 (Ui § |

1. What are the meteoric lakes ?

2. What is Epicentre ?
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3. Which are the areas of India, receive winter rain ?

TR & T T T IhreAl ol U i & 2

4. Write the names of major non-metallic minerals of Rajasthan.
TS & & Sricdeh @St o A1 forad |

5. What are the male and female literacy rates in Rajasthan as per Census-2011 ?
T 2011 T STIUFET % SFHR IS H q6T Uel S HIeTdT i 58 1 & 2
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Part— B Marks : 25
HAT-—d Ab: 25
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks. ‘ o _
A |t U WS | U I 50-50 VR H T | 9E U9 W 5 3% FuiRa § |
6.  Explain in brief the location, names and importance of the great lakes of North America.
ST 3THNERT ST e Sl ol STafedfd, 919 Ue Fewel i Haiq § ¥ it |
7. Describe the *Bshw’ type of climate of India.
qRT &l ‘Bshw’ THR Bl STATaT] Sl T Hif |
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8. Discuss the impact of La-Nina on Indian Monsoon.

YRAE HHYA T A-AMAT & T9Te T i |

9.  Discuss in bnef the types and distribution of building stones in Rajasthan.
LAl '-l:]' 5"!!'{('“ Ll'\'ng $Adol< T\Ia iiﬂEHUl WU&}HHW |
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10.  Write about the distribution and industrial uses of lignite coal in Rajasthan.
T | ol T2 Fidel & foaeor ug i SUanT & a8 J faf@d |

Part—C Marks : 30
T -9 A& : 30
Note : Attempt all questions. Answer the following questions in 100 words each. Each question

carries 1_0 marks.‘ _ o _
qAT. A U IS | T UeEl 3T 100-100 €I H T | UGS U & 10 3H UG §

1. Explain the divisions of Geological Time Scale.

ITTiTeR WA WIROT & [T &1 T ifsd |
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12.  Divide coastal plains of India into sub-divisions and explain their characteristics.

TN & 92T UeFT BT Y- | feraiiorer shitsrd o 3eh! fergiaeia &b v Hited |
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[3.  Describe the habitat, economy and society of Bhil tribe in Rajasthan.
TS | e ST & STy, STeedeell Uel TS &l Ui Hited |
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